M14/2/GREEK/SP2/ENG/TZ0/XX

22142954
CLASSICAL GREEK
STANDARD LEVEL
PAPER 2

Tuesday 6 May 2014 (morning)

1 hour 30 minutes

@ International Baccalaureate”
Baccalauréat International
. Bachillerato Internacional

INSTRUCTIONS TO CANDIDATES

* Do not open this examination paper until instructed to do so.
* Answer three questions from two genres only. Each question is worth [15 marks].
* The maximum mark for this examination paper is [45 marks].

2214-2954

11 pages
© International Baccalaureate Organization 2014



-2- M14/2/GREEK/SP2/ENG/TZ0/XX

Answer three questions from two genres only. These questions should be taken from the two genres you
have studied.

Genre: Epic

Question 1. Homer Odyssey 9.272-293

OG Epauny, 6 8¢ p avtik’ dueiPfeto vnAét Boud-
“yNmog eig, @ &eiv’, 1) TnAOBev eidnhovbag,
66 pe Beovg kédeau fj Setdipev fj dhéaoHal:

275 o0 yap Koxdwmeg Atdg aiytoxov aléyovoty
ov0¢ Be@V pakapwv, £mel 1) TOAD @EpTepoi giptev
ovd’ v £yw Alog €xBog dAevdpevog mepidoipny
oUte oed 000 étdpwy, ei pur) Bvpog pe keedot.
AN pot el Omn €oyeg lwv évepyéa vija,

280 fj mov én’ éoxatifg, 1} kai oxedov, dgpa Saegiw.”
G @aTo TEP AWV, €ug §° ob Adbev eidoTa MOANA,
ANG v dyoppov pooégny dohiolg éméeoot:
“véa pév pot katéae ITooelddwv ¢vooixbwv
npoOG METPNOL Palwv DTG Eml meipaot yaing,

285  dkpn mpoomeldaocag: dvepog 8’ €k mOVTOL Evelkev:
avtap £ym oLV Toiode DTEkPLYOV aindy OAebpov.”
OG Epauny, 6 8¢ p ovdev dueiPeto vnAél Buud,
AN 6y avaifag étapolg émi xeipag falAe,
obv 0¢ Svw HapYag MG Te OKLAAKAG TIOTL yain

290  xomt’- €k &7 éyképalog xapadig pée, dede 6¢ yalav.
ToVG O¢ O1a peleioTi Tapwv wmAicoato §6pmov:
fo0ie 8" g Te Méwv Opeoitpo@og, 008 dmélelmney,
EYKTA TE OAPKAG TE KAl O0TEQ LVEAOEVTAL.

(a) mohv géptepoi eipev (line 276). Referring to the Cyclopes’ role in mythology,
explain the boastful remark. [3 marks]

(b) Awog €xbog alevdpevog (line 277). Why should Polyphemus need to fear the
wrath of Zeus at this precise moment? [3 marks]

(c) Give four characteristics that describe Polyphemus in this extract. No quotation
of the Greek text is required. [4 marks]

(d) Explain, by quoting the Greek text, in what ways Odysseus is portrayed differently
in the words of Polyphemus and of Odysseus himself. [3 marks]

(¢) Scan to0Gg 8¢ ... 008’ dméAewnev (lines 291-292). [2 marks]
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Genre: Epic

Question 2.
500
505
510
515
520

(a)

(b)

(©)

(d)

(e)
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Homer Odyssey 9.500-521

G pdoav, AN’ ov melBov ¢uov peyantopa Gupov,
ANG v dyoppov TTpooEPny kekoTnOTL Qupd-
“KokAoy, af kév tig o kataBvntdv dvBpanwv
O@BaApod eipntat detkediny alawtoy,

pdoBat Odvoona ttolmdpBiov éEalawoat,

viov Aagptew, 10aKn €vi oiki” €xovta.”

OG ¢pauny, 6 8¢ P oipwéag Neifeto poBw-

“@ momot, 1 paa O pe malaigata Béopad’ ikdvet.
goke TIg ¢vOAde HAVTIG Avip UG Te péyag Te,
TrAepog Evpopidng, 0¢ pavtooidvn ékékaoto

Kal pavtevopevog kateynpa Kvkhwmneoow-

66 pot €en tade mavta tehevtioeobal dnicow,
xep@v €€ ‘Odvoiog apaptrioeodat dMwig.

AN aiel Tiva @@OTA péyay kal Kahov €8¢ypunv
¢v0ad’ éhevoeoBat, peydAny émelpévoy aAKnv:
vov 8¢ 1’ €wv OAiyog Te kai 00TIOaVOG Kal AKIKLG
0@BaApod dlawoev, énel 1’ €dapdooato oive.
AN &ye Sevp’, Odvaoed, iva tot Tap Eeivia Beiw
TOUTV T~ 0TPLVW SOHEVaL KAVTOV €vvoaoiyalov:
ToD yap £yw TG i, mathp 8 €pog ebyeTan elvat.
avtog &7, ai k° €0éAno’, inoetat, 00d¢ TG dANog
ovte Be@v pakdpwyv obte OvnT@v dvBpdmwy.”

¢ pdoav (line 500). Who is the subject of this verb? Give three details about
what has happened immediately before this line.

Explain the meaning of the word &eivia (line 517).

4AN" o0 meiBov ... Exovta (lines 500-505). Give two undesirable consequences
of Odysseus’s words and two possible reasons for his behaviour.

How does Polyphemus describe Odysseus in line 515? Give two Greek words
with English translation.

Translate tod yap ... &vOpwnwv (lines 519-521).

[4 marks]

[2 marks]

[4 marks]

[2 marks]

[3 marks]

Turn over
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Genre: Historiography

Question 3. Herodotus 7.43-44

dmkopévov 8¢ 10D oTpatod €Ml MOTAUOV ZKApavdpov, ¢ TPOTOG TOTAUDV, Emeite €k Zapdiwv
OpunOévteg emexeipnoav i 08®, émélime 10 Péebpov ovS’ améxpnoe T oTpaTI) Te Kai Toiol
KTIveol Tvouevog: €mi Todtov Of TOV ToTapov wg amiketo Eépéng, £ 1o Ilpdpov ITépyapov
avéPn tuepov éxwv BenoacBar- Benodpevog 6¢ kai mubopevog ékeivwv €kaota T ABnvain T

‘TA&St €8voe Podg xihiag, xoag 6¢ ol Mayot toiot fljpwot éxéavto. TadTa 8¢ TONoApEVOLoL VUKTOG

@OPo¢ £G TO oTpatomedov évémeoe. dpa Nuépn 6¢ EmopeveTo £vOeDTEY, €V dploTepl) HEV dmépywV

Poitiov oAy kat O@povelov kai Aapdavov, 1 mep 81 APVSw dpovpog €oti, £v Se&if) 8¢ TépyBag

10

(a)
(b)

(©)

(d)

(e)

2214-2954

Tevkpovg. ¢met & éyéveto év APudw péon, NOéAnoe Eépng id¢oBal mavta tOV oTpatdv- Kai
TIPOETETOINTO YAp &7l KOAwvoD €mitndeg avt® Tavtn mpoe&edpn AiBov Aevkod, émoinoav 8¢
APBvdnvoi évtethapévov mpdTepov Pactréog, évBadta wg leto, katopdV €mi TG NOVOG £0neito
Kai Tov eov kai Tag véag, Onevpevog 8¢ ipépbn T@v vewv duAav ywvopévny idéobar. émel 8¢
gy€vetd Te Kai évikwv Doivikeg Zidwviol, fjo0n te T apidn kal Tf) oTpaTLi.

Translate dmikopévov ... mvopevog (lines 1-3). [3 marks]
What four actions does Xerxes carry out in Pergamon? [4 marks]

Who are the “Magi” (Mdyot) mentioned in line 5 and what are their major
responsibilities? [3 marks]

v aplotepii ... Tevkpovg (lines 6-8). Describe where the events narrated here
take place. [2 marks]

Describe the seat (mpoe&édpn, line 9) from which Xerxes looks at his army
and fleet. [3 marks]
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Genre: Historiography

Question 4. Herodotus 7.49

10

(b)

(©)

(d)

(e)

2214-2954

0 6 dpeifeto Aéywv “@ Pacthed, obTe 0TPATOV TODTOV, GOTIG Ye OUVEOLY Exel, pHEUPOLT™ &v ovTe
TOV ve@V 10 TAB0G: fiv 8¢ mAedvag ovAAEENG, T V0 ToL T Aéyw TOAND ETL TTOAELWTEPQ YivETAL.
Ta 8¢ Vo Tadta ¢oTi yij Te Kal Bdkaooa. ovte yap Thg Oakdoong €oTi Ay TooodTog 00SapoL,
WG ¢yw eikdlw, 60TIG Eyelpopévon Xel@Vog Se§aevog oev TODTO TO VAVTIKOV QePEYYLOG EoTat
Stao@oat T4 vEag. Kaitot ovKi Eva adTov Oel efvat TOV Apéva, AANG Tapd Taoav Ty fjelpov map’
fjv O kopiCeat. obkwv 67 £6vtwv Tot Aipévwy vrodedivv, uabe 6t ai cuppopai T@V &vBpwnwv
dpyovot kal ovki GVOpwToL TOV cVpPopéwy. Kal 81 T@V S0 Tot ToD £Tépou eipnuévov TO €Tepov
gpyopat ¢péwv. yn 8¢ molepin T8¢ Tol katiotatar i Béhel Tot undev avtioov karaotival,
TOOOVTW TOL yiveTal TOAgwTEPT G0wW Av TpoPaivig €KAOTEPW, TO MPOOW aiel KAEMTOUEVOG:
evnpnéing 8¢ ovk £ott dvBpwmotot oddepia MANOWpN. Kai 61 TOL, WG OVEEVOG EVAVTIELEVOD,
AEyw TV xwpnv TAeDVa £V TAEOVL XpOVW yvopévny Aoy té§eaBart. avip 8¢ obtw &v ein dplotog,
el Povdevopevog pev dppwdéot, mav émeyoduevog meioeoBat xpipa, év 8¢ 1@ Epyw Bpaovg €in.”

0 8" apeifeto Aéywv (line 1). Who is talking here? Give three details about

what happened immediately before this line. [4 marks]

Translate ® Baot\ed ... yivetat (lines 1-2). [3 marks]

Summarize the speaker’s point of view with regard to the dangers of the sea.

Support your answer by quoting the Greek text. [3 marks]

Summarize the speaker’s point of view with regard to the dangers of the land.

No quotation of the Greek text is required. [3 marks]

What two pieces of advice does the speaker give to the king with regard to this

venture in the last two lines of the extract? [2 marks]
Turn over
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Genre: Tragedy

Question 5. Euripides Hippolytus 1-28

ADP. moAN pév v BpoToiot KoUK AVWDVVEOG
Oea kéxAnpat Kompig odpavod t° €ow:
6oot e [TovTov Teppdvwy T ATAAVTIKOV
vaiovotv elow, pwg OpdVTEG NAiov,

5 TOUG PEV o¢PovTag Tapd mpeoPedw KpaTn,
0@PaAAw §° ool ppovodoLy eig UAG péYa.
gveott yap On kdv Oe@v yével T0de-
TIHOHEVOL Xaipovoly avBpwnwy Hmo.
Seifw 8¢ pobwv Twvs’ alnBeiay taxa-

10 0 Ydp pe Onoéwg maig, Apalovog Tokog,
Innolvtog, ayvod Iithéwg maudevparta,
Hovog moAtdv tode yig Tpolnviag
Aéyel kakioTnv Salnovwy megukéval:
avaivetat 8¢ AékTpa Ko Yavel yapwy,

15 Doifov 6 adehgnv Aptepuy, Aldg KOpY,
TG, peyioTny Sapdvwy NyovHeVog,
YAwpav 8 av’ BAnv mapBéve uvav del
Kvoiv tayeiog Oijpag €aipel xBovag,
peilw Ppoteiag mpoomecwv OpAiag.

20 ToUTOLOL HEV VUV 00 POOVQ@: T yap e Oei;
a8’ eig W’ NUAPTNKE TIHWPTOOpAL
Inmolvtov €v TS’ Nuépa ta Mo 8¢
TG AL TPOKOYAT”, 00 TOVOL TOANOD pe Sel.
gNOOVTa yap viv TTitBéwg mot’ €x Sopwv

25 oeUVOV €6 dYIV Kal TEAN puoTnpioy
[Tavdiovog yijv matpog evyevig ddpap
idoboa aidpa kapdiav katéoxeto
EpwTt detv@ Toig ¢Uolg fovAedpaoty.

(a) Describe Aphrodite’s two-faced attitude towards mortals. [2 marks]
(b)  Scan éveott ... mo (lines 7-8). [2 marks]

(c) Explain why Aphrodite is angry with Hippolytus. Support your answer by
quoting the Greek text. [3 marks]

(d) ad’... pe dei (lines 21-23). Identify and explain the dramatic effect of these
words. [4 marks]

(e) Who are the persons named in lines 24 and 26? Give one detail for each of them. [4 marks]

2214-2954



Genre: Tragedy
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Question 6. Euripides Hippolytus 503-524

(a)

(b)

(©)

(d)

(e)

2214-2954

DAL
505
TPO.
510
515
DAL
TPO.
DAL
TPO.
520 AL
TPO.

& un og poOg Be@v — €b Aéyelg yap, aioxpa 8¢ —
népa poPiig TV - g LTeipyaopat puév €0
Yyoxnv €pwti, Taoxpa 6° {v A€yng KaA@g,

€6 To00’ O Qevyw vV dvalwOnoopat.

el Tot Sokel oot (xpiv pev ob 0’ apapTavery:

el & ovv, mBod por devtépa yap i xapLs),
€0Tv KatT™ oikovg @iltpa pot BedkTrpla
Epwtog, NA\Be §” dpTt pot yvaung éow,

G o’ obT’ én’ aioxpoig oVt émi PAAPn @pevdv
Tawoel vooou THod’, fiv o ) yévn Kakm.

Oei §° ¢E ¢xeivov O Tt Tod moBovpévov
onueiov, fj TAdkov TV’ 1 MEMAwV &mo,

AaPeiv, ovvayal T’ €k dvoiv piav xapuv.
noTepa O XPLOTOV ] TOTOV TO QAPUAKOV;

ovK 018’ ovaoBat, pn pabeiv, BovAov, Tékvov.
dédoty’ Omwg pot un Aiav Qavijg coen.

navt’ &v @oPnOeio’ io01 Seipaiverg 8¢ Ti;

{1 poi Tt Onotwg T@vde unvdong Tokw.
gaoov, @ mal- TadT’ €yw Onow KaA@s.

Hovov o pot, d¢omotva movtia Kompt,
ovvepyog €ing. TdANa &’ of” éyw ppovd

101G évOov fuiv dpkéoel Aé€at iloig.

& pr ... kaA@g (lines 503-505). What two things has the nurse just suggested
that Phaedra do? What is Phaedra’s response?

Translate oty ... kaxn (lines 509-512).

notepa ... T0kw (lines 516-520). Why does Phaedra tell the nurse she could

prove “too clever”?

Explain the meaning of the epithet movtia Kompt (line 522) and to whom it refers.

Explain in what ways Phaedra’s behaviour in this extract is contradictory.

[4 marks]

[3 marks]

[3 marks]
[3 marks]

[2 marks]

Turn over
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Genre: Comedy

Question 7. Aristophanes Clouds 60-80

60 ZTP. peta tadd’, dnwg v@v éyéved’ viog ovtooti,
guol te 8n kal TR yovaiki tayadq,
nept Tovvopartog On " vtedOev éhodopovpeda-
1] p&v yap tnnov mpooetifet mpog todvoua,
EavOutnov fj Xaputnov fj Kal\ummidny,

65 gyw 8¢ tod manmov " tféuny Pedwvidnv.
TEWG HEV 0DV EKpLvoued’- elta 1@ xpovw
kowvfj EuveéPnuev kaBéueba Oetdimmidny.
TohTOV TOV VIOV AapPavova’ ékopileto,
“Otav ob péyag v dpp’ EAavvng Tpog TOALY,

70 domep Meyakhéng, Euotid’ Exwv.” éyw & Epny,
“dtav pév ovv Tag atyag ¢k tod OeAléwg,
bomep 6 matnp oov, Sipbépav Evnuuévog.”
AN’ ovk €mifeto Tolg €poig ovdev Adyolg,
AN’ InmepdV oL KATEXEEV TOV XPTHATWY.

75 VOV 00V ANV TNy VUKTA @povTifwy 680D
Hiav nopov atpanov Sapoviwg vepLa,
fiv fjv avamneiow tovtovi, cwdroopat.

AN EEeyeipal mpdTOV AdTOV BovAopat.
G ST’ Av f{8loT’ adToV Emeyeipatut; TOG;
80 Deldunnidn Oedinmidiov.

(a) What reasons does Strepsiades have to be worried? Give three details from the
text immediately preceding this extract. [3 marks]

(b)  Outline Strepsiades’s relationship with his wife. Support your answer by quoting

the Greek text. [4 marks]
(c) Explain the pun in innepov (line 74). [2 marks]
(d) Translate viv ... cwOroopat (lines 75-77). [3 marks]

(e) Giving relevant examples, briefly discuss Strepsiades’s attitude towards his son
in this extract. No quotation of the Greek text is required. [3 marks]

2214-2954
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Genre: Comedy

Question 8. Aristophanes Clouds 1036—1062

(a)

(b)

(©)

(d)

(e)

2214-2954

AA. xai piy méhaty’ Enviyounv ta omhayyva kanedopgoovv
dmovta Tadt’ Evavtialg yvopatot cuvtapdadal.
gyw yap Ttwv uev Aoyog 6t” avtod TodT’ EkAnOnv
¢v Tolol gpovTioTaloty, OTL TIPWTLOTOG EMEVON oA
1040 Tolowy vopoLg kai taig Sikaug tévavti’ avtiléEar.
Kai To0To ALV | pupiwv ot’ d€lov otatrpwy,
aipobpevov Tovg frtovag Adyovg Emetta VIKAV.
okéyat 8¢ v maidevoy 1) ménobev wg EAéyEw,
60115 og Oepud enot AodoBat mp@TOV 0K EdoELy.
1045 Kaitol Tiva yvaopnv éxwv yéyelg Ta Oepud Aovtpd;
AL Otu) KAKLOTOV €0TL Kal Sethov Totel TOV dvdpa.
AA. émioyeg e00VG yap 07 Exw péoov AaPwv d@ukTov.
Kai pot paoov, Tov Tod Alog maidwv tiv’ dvdp’ dplotov
Yuxm v vopiletg, einé, kal mAeioTovg TOVOLG TTOVAOAL.
1050 AL éyo pev oddév’ HpaxAéovg BeAtiov’ dvdpa kpivw.
AA. mod yuxpa dijta twmnot’ eideg Hpdreia Aovtpd;
Kaitot Tig avdpeldtepog fv;
Al TadT’ €oTi TaDT £€Kelva,
& T@V veaviokwv det 8t” fépag Aakovvtwy
TATjpeG TO Pakaveiov ToLel, kevag 8¢ Tag makaloTpag.
1055 AA. it év dyopd v StatptPrv yéyelg £ym & émauva@.
el yap movnpov fv, ‘Ounpog ovdémot’ &v Emoiet
Tov Néotop™ dyopntiv &v 00O TOVG 6oPOVLG dmavtag.
dvelt 8T’ €vtedBev £¢ Ty yYA@TTAY, v 081 eV
oV QnoL Xpival ToVG VEOUG AOKETY, £y 8¢ Pnut.
1060 Kai cw@POoVelv ad gnot xpfvat Vo Kak® HeyioTw.
¢mel oL O1d TO CWPPOVELY TG TwToT  €ldeg 1{dN
dyaBov L yevopevov, gpacov, kai p’ ¢§éheyEov einav.

Give four examples from the text that summarize the Unjust Argument’s
approach to life. No quotation of the Greek text is required. [4 marks]

Translate émioyxeg ... movijoat (lines 1047-1049). [3 marks]

What does the Unjust Argument mean with the words év &yopd trv Satpipnv
yéyelg (line 1055)? [2 marks]

Explain the relevance of warm and cold baths for this extract. [4 marks]

Give two examples of activities the youths should practice in the Just Argument’s
view. [2 marks]

Turn over
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Genre: Philosophy

Question 9. Plato Apology 19a—d

10

(a)

(b)

(c)

(d)

(e)

2214-2954

dvaldPwpev odv €€ apxng Tic i katnyopia €otiv €€ g 1} éur) StaPoAn yéyovev, fj 81 kai moTedwV
MéNNTOG pe Eypdyato TNV ypagnyv tadtnyv. elev- ti 8 Aéyovteg SiéPardov oi Stafdarlovreg;
domep 0OV KATNYOpWV TNV AvTtwposiav Sel dvayvdval adt@v- “Zwkpdatng adkel kal meplepydletat
(T@v Té& TE VIO YiiG Kai ovpdvia Kai TOV f{TTw AOYoV KpeitTw motdv Kai AAovG TadTd Tadta
S18doKkwv.” TolavTn Tig €0TIV: TadTa Yap Ewpdte Kal avTol &V Tij ApLoToPdvous Kwpuwdig, LwKpaTn
TIVQL EKET TIEPLPEPOEVOV, PAOKOVTA Te depoPatelv Kai AAANV TOAANV @Avapiav AvapodvTta, OV
gy ovdev olTe LEYa 0UTE HIKpOV TEPL EMaiw. Kal 00X WG ATHAlwY Aéyw THV TOLadTNY EMOTHUNY,
el TIG TePl TV TOLOVTWV 00POG 0TIV — Ui TwG £yw VIO MeArtov Tooadtag dikag @evyorpt —
A& yap €pot TovTtwy, @ &vdpeg ABnvaiot, 008&v péteatv. LapTLPAG 68 ad DUV TOVG TTOANOVG
napéxopat, kai a§ld VUG dAARAovg Siddokey Te Kal @palety, ool £pod TwmoTe Aknkoate
Stakeyopévov — moAloi 8¢ DUV oi TolodTol eioty — @palete 0DV dAANRAOLG €l TWTOTE | HiKPOV T
HéYa FiKOVOE TIG VU@V £(oD TtEpl TV TOLOVTWV Staleyoévov, Kal ék TovTov Yvwoeobe 4Tt ToladT’
€0l Kai TaAa mept £pod & ol ToANoi Aéyovaty.

Where is Socrates? To whom is he speaking? Give one of the charges brought
against him in this extract. [3 marks]
According to Socrates, how did his opponents portray him? [4 marks]
Give three arguments, supporting your answer by quoting the Greek text,
by which Socrates rejects his opponents’ accusation. [3 marks]
Give two examples, quoting from the Greek text, of rhetorical devices used
by Socrates. [2 marks]
Translate gpdlete ... Aéyovorv (lines 11-13). [3 marks]
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Genre: Philosophy

Question 10. Plato Apology 39c—e

10

(a)

(b)

(c)

(d)

(e)

70 8¢ O1) peta TodTo EmBLU® VUIV Xpnopwdijoat, ® KataynPLodevoi pov- kai yap i fidn évtadOa
&v @ pdAota dvBpwmot xpnopwdodoty, dtav péAAwoy drobaveioBat. @nui ydp, @ &vdpeg ot &ue
dmektovate, Tpwpioy DIV fjEety eVOVG petd TOV Epov Bdvatov oAb xakemwtépav vi) Aia i oiav
gue dmektovate: vov yap todto eipyacBe oidpevol uev dnarld&ecbal tod Sidoval Eleyxov tod
Biov, 1O d¢ DIV TOAD évavTtiov dmofrjoetal, WG éyw @nut. TAeiovg Ecovtal DUAG ol EAEYXOVTES,
odg vV €y kateixov, LUelG 8¢ ovk nobdveole: kai xakenwtepol Eécovtal Gow vewTepoi glow,
Kai Opeig paAlov ayavaktnoete. ei yap oleofe dmokteivovteg avBpwmovg émioxnoev Tod
oveldilerv tiva dpiv 6t odk 0pBwg (fte, 00 KAA@G StavoeioBe: o0 yap €00’ abtn 1 amallayn obte
névy duvath) obte Kan, AN’ €keivn kal kKaANiotn kal pdotn, pn TovG dANovg Kohovety &AN’
€auTov Tapackevalely Omwg €otat G PEATIOTOG. TADTA pEV 0DV DUIV TOIG KATAYNQLOAUEVOLG
HavTevodpevog dmaAlattopal.  Tolg 8¢ dmoyneoapévolg ndéwg &v SiahexBeinv vmep TOD
YEYOVOTOG TOLTOUT TTPAYHATOG, €V @ O dpxovTeG doxoAiav dyovaot kal obmw Epxopat o EABOVTA
pe 8el TeBvavar.

Give the two Greek words with which Socrates describes his style of speech and
explain on what grounds he can speak in this manner. [3 marks]
Give three details about what, according to Socrates, is going to happen to the
people who have sentenced him. [3 marks]
el yap oleoBe ... kalr (lines 7-9). What are Socrates’s interlocutors trying to
escape and why? [2 marks]
Translate tadta ... mpdypatog (lines 10-12). [3 marks]

év @ ol dpyovteg doxohiav dyovot (line 12). Explain this sentence. Who is
doing what? What has just happened? What is going to happen next? [4 marks]

2214-2954



